
8'
 -

 0
"

0' - 6 1/2"

2x6 Bottom Plate

4' - 0" 4' - 0"

8'
 -

 0
"

1/2'' Plywhood Sheathing CSA 0121

Expaned Polystyrene (EPS) 
Foam Core Insulation

(2) 2x6 Top Plates

2x6 Bottom Plate

8' - 0"

BLOCK SPLINE CONNECTION

GRK - RSS - 3/8'' x 3-1/8'' 14'' C/C

(2) 2x6 Top Plates

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C

GRK - RSS - 3/8'' x 3-1/8'' 14'' C/C

0' - 1 1/2" 3' - 9" 0' - 3" 3' - 9" 0' - 1 1/2"

Expaned Polystyrene (EPS)
Foam Core Insulation

1/2'' Plywood sheating CSA 0121

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C Continuous SIP seal 

each side of framing

Expaned Polystyrene (EPS)
Foam Core Insulation

5/8'' Plywood CSA-0151

www.omcpanels.com

Stamps

C
O

N
S

T
R

U
C

T
IO

N
D

E
T

A
IL

S

PANEL SECTION DETAIL PANEL FRONT ELEVATION

BLOCK SPLINE CONNECTION DETAIL



8'
 -

 0
"

0' - 6 1/2"

2x6 Bottom Plate

4' - 0" 4' - 0"

8'
 -

 0
"

1/2'' Plywhood Sheathing CSA 0121

Expaned Polystyrene (EPS) 
Foam Core Insulation

(2) 2x6 Top Plates

2x6 Bottom Plate

8' - 0"

Block Spline 
Connection

GRK - RSS - 3/8'' x 3-1/8'' 14'' C/C

(2) 2x6 Top Plates

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C

GRK - RSS - 3/8'' x 3-1/8'' 14'' C/C

0' - 1 1/2" 3' - 9" 0' - 3" 3' - 9" 0' - 1 1/2"
3'

 -
 4

"
3'

 -
 0

"
1'

 -
 8

"

2' - 0" 4' - 0" 2' - 0"

(2) 2x6 Header on flat

2x6 Sill

2x6 Trimmers

1/2'' Plywhood Sheathing CSA 0121

(2) 2x6 Header on flat

2x6 Sill

Expaned Polystyrene (EPS)
Foam Core Insulation

1/2'' Plywood sheating

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C Continuous SIP seal 

each side of framing

Expaned Polystyrene (EPS)
Foam Core Insulation

5/8'' Plywood CSA-0151

www.omcpanels.com

Stamps

C
O

N
S

T
R

U
C

T
IO

N
D

E
T

A
IL

S

PANEL SECTION DETAIL PANEL FRONT ELEVATION

BLOCK SPLINE CONNECTION DETAIL



8'
 -

 0
"

0' - 6 1/2"
4' - 0" 4' - 0"

1/2'' Plywhood Sheathing CSA 0121

(2) 2x6 Top Plates

2x6 Bottom Plate

8' - 0"

Block Spline Connection

GRK - RSS - 3/8'' x 3-1/8'' 14'' C/C

(2) 2x6 Top Plates

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C

GRK - RSS - 3/8'' x 3-1/8'' 14'' C/C

0' - 1 1/2" 3' - 9" 0' - 3" 3' - 9" 0' - 1 1/2"

(2) 2x6 Header on flat

1/2'' Plywhood Sheathing CSA 0121

6'
 -

 1
0"

1'
 -

 2
"

8'
 -

 0
"

2' - 6" 3' - 0" 2' - 6"

2x6 Trimmers(2) 2x6 Header on flat

Expaned Polystyrene 
(EPS)
Foam Core Insulation

1/2'' Plywood sheating

Simpson strong 
tie #10 2-1/2'' screw @ 6'' C/C Continuous SIP seal 

each side of framing

Expaned Polystyrene (EPS)
Foam Core Insulation

5/8'' Plywood CSA-0151

www.omcpanels.com

Stamps

C
O

N
S

T
R

U
C

T
IO

N
D

E
T

A
IL

S

PANEL SECTION DETAIL PANEL FRONT ELEVATION

BLOCK SPLINE CONNECTION DETAIL


